
 

 

 

In your opinion, climate changes 
results in:   
 

a.  an increase in the frequency and 
intensity of extreme weather events 

b.  an increase in the mean global air 
temperature 

c.  both answers are correct 

 

 ’100-year flood’ means that:  
 

a.   such flood occurred 100 years ago 

b.  is a statistical term for a flood event 
that occurs every 100 years 

c.   both answers are correct 

 ‘500-year flood’ means that:  
 
a.   such flood occurred 500 years ago 

b.   is a statistical term for a flood 
event that occurs every 500 years 

c.  both answers are correct 

 

 

 Storms in Central Europe usually 
occurred in the following months:  
 

a.  I, II, III 

b.  XI, XII 

c.  V, VI, VII, VIII, IX 

       

 
 
 
 
Annual precipitation totals in Poland 
are: 
 

a.  ca. 1500 mm 

b.  ca. 300 mm 

c.   ca. 600 mm 

 

  
 
 
 
If you have a garden near your house 
would you be able to organize a place 
for rainwater? 
 

a.   Yes, there are various solutions, e.g. 
storing water in rain barrels, in ponds or 
draining the soil through an 
underground drainage system. 
b.   No, as rainfall water should be 
directed into the sewer system. 
c.   No, it is too complicated. 

 

  
 
 
 
Reasons for non-functioning drainage 
ditches are: 

 

a.  garbage in the ditch (e.g. dumped 
by local residents) 

b.  lack of maintenance (e.g. mowing 
plants) 

c.  both answers are correct 

 

  
 
 
 
Do location and type of land use in a river 
basin have an impact on disastrous 
surface runoff after intensive 
precipitations? 
 

a.  Yes, in steep areas (mountains, hills, 

slopes) that are additionally intensively built-
up (buildings, streets, squares) rainfall water 
moves fast and with high energy towards 
lower located areas.  
b.  No, because rainfall water infiltrates the 
ground independently of the terrain type. 
c.  No, as no intensive precipitations occurs. 
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